
(1)VIII-SOCIAL SCIENCE

1. Which one of the following countries has the highest percentage of 
forest cover?    
(a) Australia (b) Japan  

(c) India (d) China   
fuEufyf[kr esa ls fdl ns'k esa ouh; vkoj.k dk izfr'kr lokZf/d gS\   
(a) vkLVªsfy;k (b) tkiku      
(c) Hkkjr  (d) phu

class (d{kk) % VIII
socIal scIence

(Summative Assessment - I)

(lkekftd foKku)
(ladyukRed ewY;kadu & I)

Time : 3 Hrs.  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs   vfèkdre vad % 90

General Instructions :
1. There are 31 questions  in all.
2. Marks for each question are indicated against it.
3. All questions are compulsory.
4. Write the same question number as given in the question paper while answering the  
 question in your answer book.
5. (i) Answer to MCQ of 1 mark should be out of (a), (b), (c) or (d) only.
 (ii) Answer to each question of 3 marks should not exceed 60 words. 
 (iii) Answer to each question of 5 marks should not exceed 120 words.
6. Both the Maps should be attached inside the answer book.
lkekU; funsZ'k %
1- bl iz'u i=k esa dqy 31 iz'u gSaA
2- izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA
3- lHkh iz'u vfuok;Z gSaA
4- viuh mÙkj iqfLrdk esa mÙkj fy[krs le; iz'ui=k esa fn;k x;k iz'ukad gh fy[ksaA
5- (i) 1 vad ds cgq&oSdfYid iz'uksa ds mÙkj (a)] (b)] (c) vFkok (d) esa ls gh gksuk  
  pkfg,A
 (ii) 3 vadksa ds çR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
 (iii) 5 vadksa ds çR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A
6- nksuksa ekufp=k viuh mÙkj iqfLrdk ds Hkhrj layXu dhft,A

Roll No. (vuqØekad) ------------------------------   Code (dwV la-) % 820156-1-SA1(M)

Please check that this question 
paper contains 31 questions 
and 10 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 31 iz'u rFkk 10 Nis 
gq, i`"B gSaA

1



(2)VIII-SOCIAL SCIENCE

2. In desert regions, the trees are planted in rows to prevent :    

(a)	 Soil	erosion	 (b)	 floods	 	 	 	

(c) wind erosion (d) water erosion    

e#LFkyh; {ks=kksa esa o`{kksa dk iafDr;ksa esa yxkuk] D;k jksdus ds fy, fd;k tkrk gS\  

(a) e`nk vijnu (b) ck<+      

(c) ok;q vijnu (d) ty vijnu

3. Identify the characteristic of mediterranean forests.  

(a) They have broad leaves  

(b) They have long roots and thick bark   

(c) They are very tall in height  

(d) They are conical in shape  

Hkweè;lkxjh; ouksa dh fo'ks"krk dh igpku dhft,A   

(a) buds iÙks pkSM+s gksrs gSa       

(b) budh tM+sa yEch rFkk Nky eksVh gksrh gSA       

(c) bu dh ÅapkbZ cgqr vf/d gksrh gSA   

(d) budk vkdkj 'kadq tSlk gksrk gSA

4. Which one of the following factors is NOT responsible for the extinction of 

wild animals?     

(a) Hunters are penalized harshly  

(b) Poaching or hunting of wild animals  

(c) Trade of animal hides and other body parts.     

(d) Large scale Deforestation  

fuEufyf[kr esa ls dkSu lk ,d dkjd oU; izkf.k;ksa ds yqIr gksus ds fy, mÙkjnk;h 

ugha gS\         

(a) f'kdkfj;ksa dks dM+h lt+k nh tkrh gSA  

(b) oU; izkf.k;ksa dk idM+uk vFkok ekjukA     

(c) oU; izkf.k;ksa dh [kkyksa rFkk 'kjhj ds vU; Hkkxksa dk O;kikjA   

(d) ouksa dk va/k/qa/ dkVk tkukA
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5. Which one the following can be called as a major event of the nineteenth century?  

(a) Formation of Muslim League (b) First War of Independence  

(c) Jallianwala Bagh Massacre (d) Partition of Bengal  

fuEufyf[kr esa ls fdls mUuhloha 'krkCnh dh ,d izeq[k ?kVuk dgk tk ldrk gS\   

(a) eqlfye yhx dh LFkkiuk (b) Lora=krk dk igyk laxzke   

(c) tkfy;akokykckx ujlagkj (d) caxky dk foHkktu

6. In which century did the Modern Period of Indian history begin?  

(a) Seventeenth Century (b) Nineteenth Century  

(c) Eighteenth Century (d) Twentieth Century  

Hkkjrh; bfrgkl dk vk/qfud ;qx fdl 'krkCnh ls izkjaHk gqvk\   

(a) l=kgoha 'krkCnh (b) mUuhloha 'krkCnh    

(c) vB~Bkjoha 'krkCnh (d) chloha 'krkCnh

7. Which one of the following buildings in Delhi gives us some information about 

the British Period?       

(a) Lotus temple (b) Rashtrapati Bhawan  

(c) Qutab Minar (d) Raj Ghat  

fnYyh esa fLFkr fuEufyf[kr esa ls dkSu lk Hkou gesa fczfV'k dky dh dqN tkudkjh nsrk 

gS\          

(a) yksV~l eafnj (b) jk"Vªifr Hkou    

(c) dqrqc feukj (d) jkt?kkV

8. India is free to make its own decisions and no other country can dictate its terms 

and policies to us. This makes India a :        

(a) republic (b) socialist state    

(c) secular state (d) sovereign state    

Hkkjr vius fu.kZ; ysus esa Lora=k gS rFkk dksbZ Hkh vU; ns'k viuh 'krks± rFkk uhfr;ksa dks 

ge ij Fkksi ugha ldrkA blls Hkkjr fdl izdkj dk jkT; curk gS\    

(a) x.kjkT; (b) lektoknh jkT;    

(c) /eZ fujis{k jkT; (d) izHkqrklEiUu jkT;
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9. The matter related to property, marriage and divorce are included in which list?  
(a) State list (b) Union list    
(c) Concurrent list (d) Residuary subjects    

laifÙk] fookg vkSj rykd ls lacaf/r ekeys fdl lwph ds varxZr vkrs gSa\   
(a) jkT; lwph (b) la?k lwph     
(c) leorhZ lwph (d) vfof'k"V lwph

10. How many members of the Rajya Sabha retire after every two years?  
(a) Two third members (b) One fourth members  
(c) Half of the members (d) One-third members  

jkT; lHkk ds fdrus lnL; gj nks o"kZ ds i'pkr lsokfuo`Ùk gks tkrs gSa\   
(a) nks frgkbZ lnL; (b) ,d pkSFkkbZ lnL;    
(c) vk/s lnL; (d) ,d frgkbZ lnL;

11.	 Why	is	it	very	essential	to	use	resources	more	efficiently	and	reduce	their	wastage?	

Explain any three reasons.        
lalk/uksa dk vf/d izHkkoh <ax ls mi;ksx rFkk mudk nq#i;ksx de djuk D;ksa furkar 
vko';d gS\ dksbZ rhu dkj.k nsdj Li"V dhft,A

12. What is a Multipurpose River Valley Project? List any four ecological problems 
caused by them.        

cgqmn~ns"kh; unh ?kkVh ifj;kstuk,¡ D;k gS\ buds fuekZ.k ls mRiUu fdUgha pkj ifjfLFkfrdh 
laca/h leL;kvksa dks lwphc¼ dhft,A

13. Why are Tropical Evergreen Forests known as Tropical Rain Forests also? State 
any two characteristics of these forests.        

m".kdfVca/h; lnkgfjr ouksa dks m".kdfVca/h; o"kkZ ou Hkh D;ksa dgk tkrk gS\ bl izdkj 
ds ouksa dh dksbZ nks fo'ks"krk,a fyf[k,A

14. "Wildlife is essential to maintain the ecological balance on the earth surface". In 
the light of the above statement, mention any three steps that our government has 
taken to preserve wildlife.        

¶/jrh ij ifjfLFkfrd larqyu cuk, j[kus ds fy, ouh; thou vR;ar vko';d gSA¸ 
mijksDr dFku dks è;ku esa j[krs gq,] ouh; thou ds laj{k.k gsrq ljdkj }kjk mBk, x, 
fdUgha rhu dneksa dk mYys[k dhft,A

15. What circumstance compelled the Sikhs to sign the Treaty of Lahore? Explain. 

fdu ifjfLFkfr;ksa us flD[kksa dks ykgkSj dh laf/ djus ds fy, ckè; fd;k\ O;k[;k 
dhft,A
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16. Who was Birsa Munda? What was his contribution in the Tribal Revolt against the 
British?         
fcjlk eqaMk dkSu Fkk\ vaxzstksa ds fo#¼ vkfnokfl;ksa }kjk fd, x, fonzksg esa mldk D;k 
;ksxnku Fkk\

17. Who introduced the Doctrine of Lapse? How did this policy exploit the Indian 
Kings and Nawabs? Explain.        
foy; dk fl¼kar fdlus vkjEHk fd;k\ bl uhfr }kjk Hkkjrh; jktkvksa vkSj uokcksa dk 
'kks"k.k fdl izdkj gqvk\ O;k[;k dhft,A

18. Describe any three provisions of the Fundamental Right to Equality.   
lekurk ds ewy vf/dkj ds fdUgha rhu izko/kuksa dk o.kZu dhft,A

19.	 "The	Constitution	of	India	is	both	rigid	as	well	as	flexible.	Do	you	agree	with	the	
statement? Justify your answer with suitable arguements.    
¶Hkkjr dk lafo/ku dBksj rFkk yphyk Hkh gSA¸ D;k vki bl dFku ls lger gSa\ vius 
mÙkj dh iqf"V mi;qDr rdk±s }kjk dhft,A

20. Why is the Union list considered more important than the state list? Explain any 
three reasons.        
la?k lwph dks jkT; lwph ls vfèkd egÙoiw.kZ D;ksa ekuk tkrk gS\ fdUgha rhu dkj.kksa }kjk 
Li"V dhft,A

21. Which constituencies are called reserved constituencies? Highlight any two 
advantages for setting up such constituencies.       
dkSu ls {ks=k vkjf{kr pquko {ks=k dgykrs gSa\ bu pquko {ks=kksa ds fuekZ.k ds dksbZ nks ykHk 
mtkxj dhft,A

22.	 Define	resources.	Classify	resources	on	the	basis	of	development	and	briefly	explain	
them with examples.        
lalk/uksa dh ifjHkk"kk fyf[k,A fodkl ds vk/kj ij lalk/kuksa dks oxhZÑr dhft, rFkk 
mnkgj.k nsdj mudh O;k[;k dhft,A

OR (vFkok)

 Explain the concept of sustainable development. Suggest three ways to achieve 
sustainable development.        

lrriks"k.kh; fodkl dh vo/kj.kk dks Li"V dhft,A lrr~iks"k.kh; fodkl ds fy, dksbZ 
rhu rjhds lq>kb,A
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23. What is meant by soil conservation? Suggest any two ways in which soil can be 
conserved. Also, mention any two uses of soil.       
e`nk laj{k.k ls D;k vfHkizk; gS\ e`nk laj{k.k djus ds dksbZ nks lq>ko nhft,A e`nk ds 
fdUgha nks mi;ksxksa dk mYys[k dhft,A

24. Who is known as the "Tiger of Mysore"? Describe the four events that brought 
Mysore under the control of the British.        
¶eSlwj dk Vkbxj¸ fdls dgk tkrk gS\ mu pkj ?kVukvksa dk o.kZu dhft, ftuds dkj.k 
vaxzstksa us eSlwj dks vius fu;a=k.k esa dj fy;kA

25. Distinguish between the Ryotwari system and the Mahalwari system introduced 
during the British Period. (3 points each)       
fczfV'k 'kkludky esa izkjaHk dh xbZ jS;rokM+h iz.kkyh rFkk egyokM+h iz.kkyh esa varj Li"V 
dhft,A (nksuks iz.kkfy;ksa ds rhu&rhu dkjd fyf[k,)

26. Describe any five changes that took place in India after Queen Victorias  
proclamation of November, 1858.         
uoEcj 1858 esa egkjkuh foDVksfj;k dh ?kks"k.kk ds i'pkr~ Hkkjr esa vk, fdUgha ikap 
cnykoksa dk o.kZu dhft,A

OR (vFkok)

 How far was the British interference in the economic and Social  matters of the 
Indians responsible for the outbreak of the Revolt of 1857?     
1857 ds fonzksg dh 'kq#vkr ds fy,] Hkkjr ds vkfFkZd vkSj lkekftd ekeyksa esa fczfV'k 
gLrk{ksi dgka rd mÙkjnk;h Fkk\

27. What is meant by the Constitution? Mention any four purpose that the Constitution 
of a country serves.         
lafo/ku ls D;k vfHkizk; gS\ fdlh ns'k ds lafo/ku }kjk yf{kr fdUgha pkj mís';ksa dk 
mYys[k dhft,A

28. What is meant by the Right to Freedom of Religion? Explain any two major 
provisions of this right.        
/kfeZd Lora=krk ds vf/dkj ls D;k vfHkizk; gS\ blds fdUgha nks izeq[k izko/kuksa dh 
O;k[;k dhft,A
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29. Who elects the speaker and the deputy speaker of the Lok Sabha? What tradition is 
followed regarding their election? State any three main functions of the Speaker.  
yksdlHkk ds vè;{k rFkk mikè;{k dks dkSu fuokZfpr djrk gS\ muds pqukoksa ls lEcaf/r 
fdl ijEijk dk ogu fd;k tkrk gS\ vè;{k ds fdUgha rhu eq[; dk;ks± dk mYys[k 
dhft,A

OR (vFkok)

	 Explain	any	two	legistative	and	any	three	financial	powers	of	the	Union	Parliament	
of India.         
la?kh; laln dh fdUgha nks fo/k;h rFkk fdUgha rhu foÙkh; 'kfDr;ksa dh O;k[;k dhft,A

30. (i) Two features A and B are shown on the political map of India. Identify  
 these features with the help of the following information and write their  
 correct names on the lines marked on the map.  
 (A) Place from where Nana Saheb led the revolt of 1857.  
 (B) Place where Mangal Pandey refused to use the greased cartridge in 1857.  
(ii) On the same political map of India locate and label the following place : 
 (C) Chattisgarh : The present state of India to which the Mundas belong.  
(i) Hkkjr ds js[kk ekufp=k ij nks y{k.k A rFkk B n'kkZ, x, gSaA uhps nh xbZ lwpuk ds  
 vkèkkj ij mUgsa igpkfu;s rFkk muds lgh uke nh xbZ js[kkvksa ij fyf[k;s &  
 (A) og LFkku tgk¡ ukuk lkgsc us 1857 ds fonzksg dk usr`Ro fd;k FkkA  
 (B) og LFkku tgk¡ 1857 esa eaxy ikaM+s us pchZ okys dkjrwl dks bLrseky djus ls  
  bUdkj dj fn;k FkkA  
(ii) fn, x, mlh ekufp=k ij fuEufyf[kr dks vafdr dhft, rFkk mldk uke Hkh  
 fyf[k,&  
 (C) NÙkhlx<+ % Hkkjr dk orZeku jkT; ftlls eqaMk leqnk; dk lacaèk gSA

 For visually challanged students in lieu of Q. no. 30  
ç- la- 30 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u  
30.1 Name the state to which the Khasi tribe belongs.  
30.2 The Santhals belong to which State of India?  
30.3 Which was the starting place of the sepoy mutiny of 1857?  
30-1 ml jkT; dk uke fyf[k, ftl dk laca/ [kklh vkfnokfl;ksa ls gSA  
30-2 laFkky Hkkjr ds fdl jkT; ls laca/ j[krs gSa\  
30-3 1857 ds lSfud fonzksg dk izkjafHkd LFky dkSu lk Fkk\
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31. (i) Two features A and B are shown on the physical map of the world.  
 Identify these features with the help of the following information and write  
 their correct names on the lines marked on the map.    
 (A) A region of low rainfall in Africa.  
 (B) A type of forests  
(ii) On the same outline physical map of the world, locate and label the following  
 items with appropriate symbols.        
 (C) A region of Tropical Deciduous Forest in Australia.    
 (D) A region of high rainfall in South America.    

(i) fo'o ds fn, x, js[kk ekufp=k ij nks y{k.k (A) rFkk (B) n'kkZ, x, gSaA uhps nh xbZ lwpuk 
 ds vkèkkj ij mUgsa igpkfu, rFkk muds lgh uke nh xbZ js[kkvksa ij fyf[k, %  
 (A) vçQhdk dk ,d de o"kkZ okyk {ks=kA  
 (B) ouksa dk ,d izdkjA  
(ii) fn, x, mlh ekufp=k ij fuEufyf[kr y{k.kksa dks mi;qDr fpUgksa }kjk vafdr dhft,  
 rFkk muds uke fyf[k, %  
 (C) vkLVªsfy;k dk ,d m".kdfVca/h; ouh; {ks=kA  
 (D) nf{k.k vejhdk dk vf/d o"kkZ okyk {ks=kA

 alternative question for visually challanged students in lieu of Q. no. 31  

ç- la- 31 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'uA  
31.1. Name any one Asian country having Tropical Deciduous forest.  
31.2. Name one region of low rainfall in Australia.  
31.3. Name any one tree found in Evergreen forests.   
31.4. Which region in South America gets high rainfall?  

31-1- ,f'k;k ds ,d ,sls ns'k dk uke fyf[k, tgka m".kdfVca/h; ou ik, tkrs gSaA  
31-2- vkLVªsfy;k ds de o"kkZ okys {ks=k dk uke fyf[k,A  
31-3- lnkgfjr ouksa esa ik, tkus okys fdlh ,d o`{k dk uke fyf[k,A  
31-4- nf{k.k vejhdk dk vf/d o"kkZ okyk {ks=k dkSu lk gS\
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Roll No. (vuqØekad) ____________________
Map for Question No. 30 [ç-la- 30 ds fy, ekufp=k]

India-Political (Hkkjr&jktuSfrd)
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Roll No. (vuqØekad) ____________________
Map for Question No. 31 [ç-la- 31 ds fy, ekufp=k]
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